Multiple each number by the same factor, and write it in the cell below. If the answer is bigger than
60, subtract 60 and keep going. Then connect each number to its corresponding answer!

Choose afactor: 2 3 4

1123|456 |7 |89 (1011|1213 |14 (15|16 |17 |18 | 19| 20
21122123124 125|126|27|28|29|30|31|32|33|34|35|36|37|38|39]40
41|42 143 |44 | 45|46 |47 | 48|49 |50 | 51|52 |53|54|55|56|57|58| 59|60

58 59 6.0 1 -
56 20 * - 3,
55 * 5
54 ° * 6
33 J
92, .8
51, W9
50, J0
49, J1
48. A2
47. .13

46. 14

45 *15

44+ °16

43¢ "17
42° ‘18
41° ‘19
40° 20
39° 21
38 .22
37 . 23
36 . . 24
35 _. « 25
34 2 °_ 26

33 .5 * e o 227
32 31 30 29 28
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